
  

 

2. ročník                                 Český jazyk                                     ČJ_ 02_01 

 

Řešení:                                                                                              

Doplň správnou slabiku: 

sněhulák                               napíše  

kartáček                                vyšije    

pohádka                                kolíček  

malíček                                  nepřítel    

znají                                       zaváže 

svíčka                                     povídá   

v pokoji                                  korále     

mele                                       roztaje    

krabice                                   počítá     

 

 

 


